Lesson-3 : Addition and Subtraction

Exercise-1
1. (a) (iii) Total money spent=% 3215 +% 2347+ 1178 =% 6740

3215
2347
+1178
6740
(b) (ii) Number of bags of wheat left = 9778 — 5489 = 4289
RlTIE)
97 7 8
-5489
: 4 289
2. (a) 2451 +3097 —4025=1523
Stepl: @ Step2:
2451 5548
+3097 -4025
5548 1523
(b) 5081 +1098 —2999 =3180
Step 1: @ Step2: I
5081 L X7 9
+1098 -2 999
6179 3180
Exercise-2
1. (@) (i) 12341+67325=79666
| 12341
+67325
79666

(b) (iv) The number that is 2354 more than 90491 is 90491 + 2354 = 92845

90491
+2 354

92845
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. 0 2.14357

. @ 33021

+23568
56589

d OO
38427

+42812
81239

(b) 41853
+22014

63867

(e) @

52768

+16720

69488

Exercise-3

. (@) (ii) Greatest 5-digit number = 99999
Greatest 6-digit number = 999999
Sum =99999 +999999 =1099998

(b) (iv) Required number = 8,76,543 + 32,586 = 9,09,129

© 24513
+52 3 4
76853

) OO
75783
+14702
90485

0/0/00/¢)
99999g

+99999
1099993

—_—

O OO

876543

+32586

9091209
. @ 654321 (b) 328517
+123456 +210321
777777 538838
(c) 000 d @O OOd
234567 531786
+432765 +173438
667332 705224

. (a) 1,54,023+4,21,746=5,75,769  (b) 2,45,386+4,25,297 =6,70,683

154023 ® OO
+421746 245386
670683

Practice Time (Page 29)

3. 234567

Exercise-4

1. (a) (iv) Total money spent= ¥ 8,42,560 +< 78,850

= 29,21,410

@
512560

+78850
921410
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(b) (i) Total number of locks manufactured in two years

= 72,584 + 37,846 00000
- 1,10430 72584
+ 37846
110430
: OO0
(c) (iii) Population of the town 534786
= 2,34,786 +1,93,877 +193877
= 4,28,663 428663
(d) (ii) Total number 6f persons who visited Kanyakumari in two
years 00 O
= 2,53,761 +4,08,829 25 g Z g ;
- +4 0
= 6,62,590 | £62590
(e) (ii) Total money collected ®(;)(i)%>c;) 3
= ?74278+?93297+?89600 93297
=3257175 | +89600
' 257175
. Required number = 8,76,543 + 12,345 = 8,88,888 - 8 7.6 543
. +12345
8 88888
. Total amount paid by Rani QOO
= 734,700 +% 12,800+ 6,836 | 34700
. : 12800
=3 54,336 : 16836
Thus, Rani paid?54,336 to the shopkeeper. 54336
Exercise-5 B
. (@) (iv) Other number = 98909 — 53798 98549
~ 45111 ~53798
_ 45111
So, the other number is 45,111.
(b) (ii) Smaller number = 65432 — 7194 OBEBO
_ | 6 B A3 7Z
= 58238 _ 719 4
Thus, the smaller number is 58238. 58 238

@ Scanned with OKEN Scanner



2.a 28456 ® 579130 77777
~1 42 32 ~2 4601 _4 2424
142 24 33 3 12 35353

d OB 00 @ 6000000 00
532 X 5 6 0000 75467
3900 6 45454 4 1 3 58
14209 1 45 46 3418009

Puzzle (Page 33)

Saumya is the 24th fastest runner in her class and also 24th slowest runner

in her class.
Number of students in the class=23+1+23-—547.
- Exercise-6
1L (2) (i)8,16,258—364800=451458 OWoe @
: & XY 6 258
-3 6 4 800
| 451 458
Thus, 8,16,258 is more than 3,64,800 by 4,51,458.
(b) (ii) Required number = 300,103-2,87,09% @ Q00
= 22,005 3 P9 XYeo3
S0, 22,005 should be added. —2 2 Z 8 3_;
2. (a) .2 85469 (b) 719 65 4
_1 35 344 -4 08531
150125 311123
¢ 864318 (d) @ LB
~443207 358473
4 21111 -1 01986
256 487
(e) OO0 GO f) o0 o0
53 2 6440 6 £ 3 672
-275324 -3 19517
2 57316 32 4 155
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Exercise-7
9009385 - 333785
575600

&)

I

1. (a) (i) Number of males

1]

uwc»\‘x;@
\1&3}@
glew X
ol »n

(b) (ii) Money got back by Raja
= 40,000 - T 38,450
=¥ 1,550

|
olw X @
»—xoo@@

gl K@ |o|e =

QI O

2. Money left

= ¥ 8,28,050 - 4,57,375
= % 3,70,675

wirs % Q

umN@
o|lN % Q
alw O

Thus, the money left in her bank account is ¥ 3,70,675.

3. 694834 - 576956 = 117878

P
~IN X @
SR NGy

Thus, Bobby earned 117878 points more.

Exercise-8
1. (a) (ii) Required number = 150000 - (46450 + 82425)
= 21125

@) @@ 000
0 15000480

5 -1 28 875
5 21125

N]Oo &~
I O
O
NN O

+
1

(b) (ii) Number of students who got less than 80 marks
= 459203 - (89712 +95389)

= 274102
OO0 00 JE
89712 59203
+ 953809 -185 101
185101 2 74102
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2. (a) 2,51,743+ (),2'1 301-1,19,254=7,53,790

OO0
25174 8§73 044
+62130/|19254
8 73044 753790
(b) 9,99,999 -2,22,222 +3,33,333=11,11,110
00JO0I0X0)0;
999999 777777
-222222/333333
7 77 777 1111110
() 529,516—1,02,053 +25970-18,325=4,35,108
| o0 01010 0 0Q
529 5X6 427463 458433
—102053/ 25970/1832_5
L 27 463 T 53433 435108
Exercise-9

1. (a) (ii) 45960 rounded to the nearest thousands is 46000,
96113 rounded to the nearest thousands is 96000.
Estimated difference = 96000 — 46000 = 50000

So, there are about 50000 more petrol cars than diesel cars.

(b) (i) 3240 rounded to the nearest thousands is 3000.
3990 rounded to the nearest thousands is 4000.
Estimated sum = 3000 +4000 = 7000
So, there are 7000 kids in total approximately.

2. (a) 49532 rounded off to the nearest thousands is 50000.
30029 rounded off to the nearest thousands is 30000.
Estimated sum = 50000 + 30000 = 80000

(b) 57623 rounded off to the nearest thousands is 58000.
8245 rounded off to the nearest thousands is 8000.
Estimated sum = 58000 + 8000 = 66000

(c) 2103 rounded off to the nearest thousands is 2000.
8999 rounded off to the nearest thousands is 9000.

Fetimated stim = 2000+ 9000 = 11000
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() 4459 rounded oft to the nearest thousands is 4000,
38599 rounded off to the nearest thousands is 39000,
Estimated sum = 4000 + 39000 = 43000

~(a) 60051 rounded off Lo the m"afr(",'»'l thousands is 60000,
46484 rounded off o the nearest thousands is 46000,
Estimated difference = 60000 = 46000 = 14000

(b) 65536 rounded off to the nearest thousands is 66000,
2916 rounded off to the nearest thousands is 3000,
Estimated difference = 66000 = 3000 = 63000

(¢) 9271 rounded off to the nearest thousands is 9000.
7563 rounded off to the nearest thousands is 8000.
Estimated difference = 9000 = 8000 = 1000

(d) 73588 rounded off to the nearest thousands is 74000.
4500 rounded off to the nearest thousands is 5000.

sstimated difference = 74000 - 5000 = 69000

Mental Maths Corner

. Greatest 3-digit number 999
Smallest 6-digit number + 100000
100999

Thus, the required sum is 100999.
. 1lakh - 100 thousands

= 100000 - 100000 =0

. 100 more than 99999 is 100099.

0JO10)
99 999
+ 100
100099
- 100000 more than 60606 is 160606.
1T 000060
+ 6 0 606
1 6 0 606
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